Dividing Money (C)

i

10.

Calculate each quotient.

16 ) $496.00 2. 31) $2309.50 3. 84) $1192.80
70 ) $4445.00 5. 14) $1380.40 6. 41) $848.70
61 ) $1909.30 8 49) $3532.90 9. 12 ) $403.20

If 92 identical toy robots cost $4710.40, how much did each toy robot

cost?
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Dividing Money (C) Answers

10.

$ 31.00

16 ) $496.00
—$480.00

$16.00
—$16.00

$0.00

$ 63.50

70 ) $4445.00
—$4200.00

$245.00
—$210.00

$35.00
—$35.00

$0.00

$ 31.30

61 ) $1909.30
—$1830.00
$79.30
—$61.00
$18.30
—$18.30

$0.00

2.

Calculate each quotient.

$ 74.50

31) $2309.50
—$2170.00

$139.50
—$124.00

$15.50
—3$15.50

$0.00

$ 98.60

14 ) $1380.40
—$1260.00

$120.40
—$112.00

$8.40
—$8.40

$0.00

$ 72.10

49 ) $3532.90
—$3430.00

$102.90
—$98.00

$4.90
—$4.90

$0.00

$ 14.20

84 ) $1192.80
—$840.00

$352.80
~§336.00

$16.80
—3$16.80

$0.00

$ 20.70

41) $848.70
—$820.00
$28.70
—$28.70

$0.00

$ 33.60
12 ) $403.20
—$360.00

$43.20
—$36.00

$7.20
—$7.20

$0.00

If 92 identical toy robots cost $4710.40, how much did each toy robot

cost? $51.20
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